HINE

HINE

HINE

HINE

HINE

HINE

HINE

HINE

0 H o
i 21,580 = 311900 mom
. 77 7 7
| /
| .

//////
=== %Wﬁ”/%gm%
///////é/f _| é/i‘ / | / //
// ///// /// i _ | é/

/

10m 15m 20m 25m 30m

RANGEMACHINE ORANGEMACHINE ORANGEMACHINE ORANGEMACHINE ORANGEMACHINE ORANGEMACHINE ORANGEMACHINE ORANGEMACHINE ORANGEMACHINE ORANGEMACHINE ORANGEMACHINE ORANGEMACHINE ORANGEMACHINE ORANGEMACHINE ORANGEMACHINE

5m

m 2m 3m

S
<
=
<]
=
=z
=
S
H
H
S
<
=
9
=
=
=
S

°

(=)
<
<
N
(o]
[N
-l
=
o
(-

M 1:200

PLATENIC

4

[ 4

U

HINE

DUM

-
>
=
>
E8

HINE

HINE

HINE

HINE

HINE




